5609.20-GA.T0S7

0,776

—0.760 BUILD IN WIDTH

===

X

SCALE 1:1
— [e=ir . E_‘
s [
oo sat—— o8 — =T LA E
— i —

CABINET MOUNTING HOLES
/ $0,229 THRU \./ M5 FLAT HEAD

\»’s\

& IRy T _ _ _ - ..\ _ L
Y Wy Wy Wy Wy @
L
o o o o o O ™
S S O S O —
n S v S o SN N
o~ I I Ty ox
© 0,229 THRU \/ OPPOSITE SIDE M5 FLAT HEAD - - - —
©0,626 /
\ | o—H
>’\ ! — — % I |E_\
NS S, Y I, M - - (D il e PR Y B v ) ] - - - B - - ©) -
\i/ R AT AT AT AT T Ex g AT AT AT ] W \\é@
\ 2 —
O] © o X o NN o oY — — — ™
S 1 © W1 Yolve! — — — 0
0N O N AN N M Q0 Q
O — o No® 15 O W0 N
~ 20,000£0,118 EXTENSION —— 20,000 -
general tolerances @G DIN I1SO 128-30
missing dimensions see 3D
ISO 2768-m

RECOMMENDED HARDWARE:

= theor. intersection

This drawing remains our property and may not be multiplied neither be disclosed to third parties (§§1,3 and 5 from the copyright Act (UrhG))

covered according to DIN ISO 16016 scale: surface: | material, semi finished parts: A2

o 1:2 STEEL

CABINET- M5 FLAT HEAD SCREW #10 FLAT HEAD SCREW 0 : name | (tocTnical requrements Puterer)
rawn |17-02-2021 | MW | description:

; metial & Hl e soe uouy
DRAWER- M5 FLAT HEAD SCREW OR #10 FLAT HEAD SCREW o il tearar o ShOSE DRNVER SHIDE

© Fulterer AG & CoKG |drawing number:

[®) A-6890 Lustenau / Austria

@ UPDATE TITLE BLOCK [19-03-2019 | HB Fulterer AG 560920-GAT057

ind. changes date  [na. CH-9430 St. Margrethen  [replaces version date:

Montag, 4. April 2022 16:57:27

stefan.corona




	FULL EXTENSION SIDE MOUNT
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


